GertsDeals

Free Questions for 350-601 by certsdeals
Shared by Cooley on 09-08-2024

For More Free Questions and Preparation Resources

Check the Links on Last Page



Question 1

Question Type: MultipleChoice

Refer to the exhibit.

y d or type unknown

Refer to the exhibit An engineer must mirror the traffic on a switch The engineer locates the server port that requires monitoring on
switchl, but the packet sniffer is on switch2 The engineer must configure the source IP address on switchl Much command
accomplishes this goal?

Options:

A) monitor session 10 type erspan-source
B) monitor erspon origin ip-address 209.165.200.225
C) source ip 209.165.200.225

D) source interface vbn512

Answer:

B



Question 2

Question Type: MultipleChoice

A network engineer must configure a Fibre Channel interface on the Cisco MDS 9000 Series Switch The configuration must meet these
requirements

* The interface must be disabled when the bit errors threshold Is exceeded

* Buffer-to-buffer credits must be set to the maximum value

* The interface must have full bandwidth allocated for its port group

Which command set configures a Fibre Channel interface that meets these requirements?

A.

age not d or type unknown

B.

age not d or type unknown




C.

age not d or type unknown

D.

age not d or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:




Question 3

Question Type: MultipleChoice

Refer to the exhibit. What is the result of executing this python code?

Options:

A) It backs up Cisco switches to Cisco Prime infrastructure.
B) It sends the switch configuration to Cisco TAC.
C) It sends a Cisco device backup to a remote destination.

D) It schedules a backup on a Cisco switch using EEM.

Answer:

C

Question 4

Question Type: DragDrop




Drag and drop the characteristics from the left onto the correct storage systems on the right.

20€ NO d or type unknown

age not d or type unknown

gestion 5

age not d or type unknown
Qllmype: MultipleChoice

eerisasked to modify an overridden policy by changing the number of FCNS database entries to 1500 and then generable a
. What configuration will accomplish this task?

age not d or type unknown

B)



age not d or type unknown

C)

age not d or type unknown

D)

age not 1guhd or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:




Explanation:

The following example modifies an overridden policy by changing the number of FCNS database entries to
1500. It also generates both the configured and the default syslog messages of the default system policy
event manager applet fcns_policy override _ fcns_entries_max_per_switch

event fcns entries max-per-switch 1500 action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit.

Question 6

Question Type: MultipleChoice

Refer to the exhibit. A network engineer is implementing a configuration checkpoint on a Cisco Nexus 9000 Series Switch. The
configuration must skip any existing vPC configuration errors and must complete if there are any configuration errors. The engineer
finished the vPC domain configuration part. Which command completes the checkpoint implementation?

Options:




A) stop-at-first-failure
B) atomic
C) best-effort

D) verbose

Answer:

C

Question 7

Question Type: MultipleChoice

Refer to the exhibit. Software downgrade is required on a Cisco Nexus 7000 Series Switch. What is displayed when this command is
executed?

Options:

A) features and commands that are removed automatically from the configuration

B) features that are enabled automatically after the downgrade



C) compatibility of software in the system bootflash file

D) impact of a software upgrade in ISSU and chassis reload

Answer:

A

Question 8

Question Type: MultipleChoice

An engineer is implementing traffic monitoring for a server vNIC that is configured with fabric failover enabled. The requirement is for the
traffic to be sent to an analyzer, even during a failure of one of the fabric interconnects. The analyzer is connected to unconfigured
Ethernet ports on both fabric interconnects. Which configuration accomplishes this task?

A). Create two traffic monitoring session with different names, one per fabric Connect the analyzer connected to FI-BI the destination for
both monitoring sessions.

B). Create two traffic monitoring session with different names, one per fabric.
C). Connect an analyser on each FI as the destination for the monitoring session local to the FI.

D). Create two traffic monitoring sessions with the same name, one per fabric Connect the analyze connected to FI-A as the destination
for both monitoring sessions



Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:

A
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